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Note: =25k r/s.
Do the following for the impedance to the right of the a, b terminals:
a)  Calculate complex power S =P + jQ.
b)  Calculate average (or DC) power.
¢)  Calculate maximum instantaneous power.
d)  Sketch the power waveform, p().
2.
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a) Calculate V. Note: =1 Mr/s.

b)  Calculate the complex power, S, for the components inside the box.
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VgYa'n = 120400 V ZgY = j0.3 Q
Veybn = 120£+120°V  Zzjipe = jO.6 Q

Vgyen = 120£-120° V

zLy = 3—-j0.1 Q

a)  Draw the single-phase equivalent circuit.

b) Calculate Vya.
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Veaab =26520° V ZgA = 8.3Q resistor in series with 5/6UF capacitor

Veab'e' =2654-120° V. zjine = 1 Q resistor in series with 700 nH inductor

Veaca = 265£+120° V ZLA = 4 Q resistor in series with 10/9uF capacitor

a)
b)
a)
b)

Draw the single-phase equivalent circuit. Note: = 1 Mr/s.

Calculate Ig.

Calculate Vap.

Write a numerical time-domain expression for vag(?).



